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Exercise 2.1

Question 1: Simplify the following

(i) 3(a* b*)'" x 5 (a? b?)?
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Solution:

Using laws: (@™)"=a™ ,a°=1,a™ = 1/aand a™ x a" = a™"]
(i) 3(a* b*)'" x 5 (a2 b?)?

On simplifying the given equation, we get;
= 3(a* b*) x 5 (a® b®)

=15 (a*® b*)

[using laws: (@™)"=a™and a™ x a" = a™"]
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On simplifying the given equation, we get;
= (2 x 213 y%)
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Question 2: If a = 3 and b =-2, find the values of:
(i) a®+ b®
(ii) a® + b?

(iiii) (a+b)®



Solution:

(i) a®+ bP

Now putting the values of ‘a’ and ‘b’, we get;
=3+ (-2)?

=33+ (-1/2)?

=27 +1/4

= 109/4

(i) a® + b®

Now putting the values of ‘a’ and ‘b’, we get;
=372+ (-2)

= (113) + (-2)°

=1/9-8

=-71/9

(iii) (a+b)*

Now putting the values of ‘a’ and ‘b’, we get;
=(3+(-2)y

= (3-2))

Question 3: Prove that
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Question 4: Prove that
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(i) L.H.S

1

1+ .I!‘b_ﬂ 4 gta +

1

= — +
1+ &

I!J:l

1+ =

I

"

.I'b _|_ .I’ﬂ
Tt + b

=1

: +
.1'b + gt

T .I‘b

1+ .I‘ﬂ_b 4 .I‘E_b +

1+ Ih—c 4 gt



=R.H.S.

(ii) L.H.S
1 1 1
- b pe o o ox° , oxt i e
l_l_f_lr 1 b rt J'_|‘_|r
il E'E' e
- Pt b e B rb 4 o e B re 4 opb L pa
E"—.E'E'—E[
- E'"—.E'h—.i:'['
=1
=R.H.S.

Question 5: Prove that
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Question 6: If abc = 1, show that
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Exercise 2.2

Question 1: Assuming that x, y, z are positive real numbers, simplify each of the
following:

O (V&) i) (i) ( 3y )’

(iv) (vVT) 3/y* = zy* (v) /24321045210

Solution:
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Question 2: Simplify
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Question 3: Prove that
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Solution:

(i) L.H.S.
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Question 4.

Show that:
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Exercise-VSAQs

Question 1: Write (625)"* in decimal form.

Solution:

(625) " = (5% =51=1/5=0.2

Question 2: State the product law of exponents:
Solution:

To multiply two parts having same base, add the exponents.

Mathematically: x™ x x" = x™*"

z s
[ﬂ[ +4+3)— (.:-+3}}



Question 3: State the quotient law of exponents.

Solution:

To divide two exponents with the same base, subtract the powers.
Mathematically: x” + x" = x"~"

Question 4: State the power law of exponents.

Solution:

Power law of exponents :

(X7 = XX = xm

Question 5: For any positive real number x, find the value of
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Question 6: Write the value of {5(8" + 273 ) 3}"4,

Solution:



{5(81/3 + 271/3 ) 3}1/4

= {5(23><1/3 + 33><1/3 ) 3}1/4
= {5(2 + 3)"3)™"

= (5%) "

=5

RD Sharma Solutions for Class 9 Maths Chapter 2
Exponents of Real Numbers Summary

In the 2nd chapter of RD Sharma Solutions for Class 9, students will delve into significant
concepts regarding Exponents of Real Numbers, encompassing the following:

Introduction to Exponents of Real Numbers
Integral exponents of a Real Number

Laws of Integral Exponents

Rational Exponents of Real Number

nth root of a positive Real Number

Laws of Rational Exponents
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